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Math 2300-007: Trig. Substitution

(Thanks to Faan Tone Liu)

Key Points:

e Use these substitutions when you see integrals with va? — 22 or v/a2 + x2.
e Substitution for /a2 + x2:
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e Other notes and tips:
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Compute the following integrals:
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5. /zvl — 22 dz (Hint: Can you do this another way?)
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6. / T dz (Hint: Try some sneaky algebra first.)

|
[ Ko
2 \TiE &
'QTTIR:
= éa,g l+(’&)’é2< oy
i
G ) du= g dx
:Tgu—u“‘lw ((gdufdx
L

- ovcken (W) +C
- arckm (R) FC

1
7. L 4o (Hint: Compl .
/ R dz (Hint: Complete the square.)

\
= S )("\—le_‘_.“___‘..’f"{

= g (x+\)" +4 éx Vk-*x’*\
\ :

= g e e du Ab{:éx g
w* v

= 'fiam[—w(ué Y C (ser %G o v\v‘\‘asw\-?")\\



